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Mary begins her trek at the day care (point A in 
the diagram), and she wants to walk on every 
road in the diagram exactly once (a road 
connects two lettered points, and points may be 
landed on multiple times).  Mary’s trek ends at 
home, which must be located at which point in 
the diagram? 
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 Owen is riding his bicycle on a straight, flat road 

at a constant rate of 15 feet per second.  At the 
moment he passes underneath a balloon rising 
vertically at a constant rate of 5 feet per second, 
the balloon is already 45 feet above the road.  At 
what rate, in feet per second, is the distance 
between Owen and the balloon increasing 
exactly three seconds after Owen passes under 
the balloon? 
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the line 2x  .  Find the volume of the resulting 
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